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QUESTION 1

Why would a developer compare a current version of code to a previous version? 

A. to provide the single source of truth 

B. to troubleshoot code failures 

C. to track who made a change 

D. to aid in collaboration 

Correct Answer: B 

 

QUESTION 2

Which protocol runs over TCP port 830? 

A. NETCONF 

B. Telnet 

C. RESTCONF 

D. HTTP 

Correct Answer: A 

 

QUESTION 3

A development team needs to containerize an application named \\'custapp4o3p2r6d3s6w7x6t9\\'. A Dockerfile has
been created and now the docker build command must be run using the current folder to find the Dockerfile, build the
image and create a local repository named \\'custapp4d5c-repo\\' that points to that image. Which command must be
used? 

A. docker build custapp4d5c-repo Dockerfile. 

B. docker build -t acustapp4d5c-repo Dockerfile.txt 

C. docker build custapp4d5c-repo -f Dockerfile.txt 

D. docker build -t custapp4d5c-repo -f Dockerfile. 

Correct Answer: D 

Tag an image (-t, --tag) Specify a Dockerfile (-f, --file) 

Source: https://docs.docker.com/engine/reference/commandline/build/ 
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QUESTION 4

Refer to the exhibits. 

A developer is troubleshooting an API with the given API documentation and cURL command. What is the cause of this
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problem? 

A. The authorization header is missing or incomplete. 

B. The request body is missing or incomplete. 

C. The API token specified is expired. 

D. The user is not allowed to post messages from their account. 

Correct Answer: A 

Not B because you would get a 400 error. 

Not C since the token in the page showed is always valid for 12h since last page refresh (so showing the page
somehow implies the usage of a valid token). Not D since that would produce another type of error about insufficient
priviledges 

for that user (but authorization to use the API would occur correctly), like a 403 forbidden or something similar. 

 

QUESTION 5

In which situation would an edge computing solution be used? 

A. where low latency is needed 

B. where high CPU throughput is needed 

C. where fast memory is needed 

D. where high disk space is needed 

Correct Answer: A 
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